e SSC MTS 2022-23 =
MATHS  SESSION-1 ~

MODEL PAPER D g >
W AT IS WA T o

SHORT TRICK ®¥ SOLVE FX

(«) QOB | 03:45 PM BY SUNIL MAHENDRAS



UPCOMING ONLINE BATCHES

MARCH 2023

01 MARCH 2023

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

15 MARCH 2023

08:00 AM t0 10:00 AM

BANK ONLINE LIVE CLASS

BILINGUAL BILINGUAL

22 MARCH 2023

BANK ONLINE LIVE CLASS

English & Bengali

& www.mahendras.org e  7052477777/7052577777



SSC MTS 2022-23

SSC MTS and Hawaldar 2022

Application Received 5473969



of Questions/

Time Duration (For

Part Subject Maximum Marks |all four Parts)
Session-1 45 Minutes (60 Minutes
I Numerical and 20/60 for candidates eligible
Mathematical for scribes as per para
Ability 8)
11 Reasoning Ability and |20/60
Problem Solving
Session-11 45 Minutes (60 Minutes
| General Awareness 25/75 for candidates eligible
for scribes as per para
II English Language and |25/75

Comprehension

§)
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The simple interest on a certain sum for 4 years is 28% of the sum. What will

be the simple interest on a sum of Rs. 2,880 for 3 % years at double the earlier

rate?

Toh TS TR WX 4 It o foTT 9rermor sa1sT 39 ST Rt 28% 21 2,880 T <hl TSt
T3 % 1 o [T T8t ol ST H ST ST I IR SATS T BT

W P=loo”’  ST=287 Time=41=
RO\i()*:‘“\/‘SG a) Rs. 1,296
=Y1d RN
= ({) b) Rs. 1,528
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c) Rs. 1,620

d) Rs. 1,512
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A person increases his speed by 40%. By doing so, he reaches his office 9
minutes before the usual time. How much time (in minutes) does he take

usually to go to his office?

Uk i<k YT T H 40% ol Fieg, AT 2| VHT hi T I8 |H 999 9 9 7
TEct AU SH UG ST 2 8 SATHAR UL 379 THAL ST H Tohet1 g0 (Feel o)

AT 2?7
b)

c) 32
d) 30 '
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Eight years ago, the ratio of the ages of A and B was 4 : 5 and the ratio of their
ages, 12 years hence, will be 13 : 15. The present age (in years) of B is:
313 TN T, A I B shl SR T AT 4 : 5 AT IR 12 I o S1G k! 1Y ]
AT 13 : 15 RN B hl W A1 (A1 H) T 82
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By selling an item for Rs. 1,035, there 1s a gain of 15%. If the item 1s sold for
Rs. 922.50, then what 1s the gain/loss percentage?

forelt & T 1,035 ¥9 H si= TX 15% 3T AT BIdT ol Ale o I 922.50 T |
S wucll% a‘rw&f«ruﬁmﬁw%‘?

c~ w{“’b = Ao
/9?(

by = 8250 -0C @) Loss, 12.5%

<\ \/\\H b) Gain, 12.5%

¢) Gain, 2.5%

>ﬁ) Loss, 2.5%
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What is the ratio of the mean proportional between 24 and 6, and the third
proportional of 14 and 427
24 ST 6 o WEATIT 3R 14 R 42 3 L SAATIh T AT HT 82
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b) 21:2

c)3:4

d) 4:3
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A 18 25% less than B, B 1s 30% less than C, and C 1s 50% more than D. If the

difference between A and C is 285, then 33.33 % of B is equal to:
A, BH25% FH 8, B, CH30% %7 & AR C, D & 50% 312k 21 AT A SC

sf1=1 ST 3TAT 285 B, @1 B % 33.33 % Rl O -IT 27

A (
WoSHD. \S4RIL
2 v
WS ARTS
RISV

Ol 5o 18 1S
— q'\ @\S‘/



SSC MTS 2022-23

Let x be the greatest number by which when 448, 678 and 908 are divided, the
remainder in each case 1s 11. When 147 is divided by x, the remainder 1is:
AT x 98 999 J<] TT © TS99 448, 678 3T’ 908 ohl far1iSid vt W Idieh

feafi 3 St LLSTW 1 31 S 147 R X @S e S &, i e
TATT?
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X and Y together can do a piece of work in 10 days, X 1s 40% more efficient
than Y. X alone will complete 35% of the same work 1n:

X SR Y THHTY T 13 shl 10 o1 H T R Ehal 7, X, Y € 40% 3T a8 =1 X
3okt GHT T o 35% WIT i Tohe ot | g spamm?
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d) 5 days
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What is the@fan f the range and median of the given data?

fau T &T%@;? 3TV HTTRIeRT ShT HTET T 27
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The value of 17 -[16- {38 -(49-72+ 16 x4 of 2)}] 1s:

7 /NS

N

29
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a) 23

L

c) 28

d) 26
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